BERX HIBIEEN

= A
o Z=

RE

wEeEX(GHE
X% (E B

(BUHE 1)

BEIERV

S(HHER)

=
Hi 15 & B - = _
FE 2 A IR EEN RS
HEEZ
N A (B 0 M)
18 B %% fwE
KERT#HE (B2E) 35,000
KRS CEEE) 1,420,000
Z Mty GiE%Rs S OHEE%) 899,000|A. 35 1%763,000M& %
&5t 2,354,000
53 H (Bfi7 : /M)
= BN SR | MBI SRS
EE D EY LR ESyigi=) &%
) sz FFELZR i - -
EHENRE 4B ~3A 35,000 0 35,000
EEEHEE/NET 35,000 35,000
1 |mARE 128 T8 70,000 70,000
BH S - BHAR
E 2 |FBTHRY 4B ~3A 60,000 0 60,000
N 3 [6bDoEkE &k 90,000 0 90,000
i 4 ErE & |k 148,000 0 148,000
5 |HuiE S s EE L S IRt 4B ~3A 235,000 0 235,000
Bk 6 |BHEREBY—LX 48 ~3R 411,000 0 411,000
7 |E2EERY FT7—7 4B ~3A 30,000 30,000
RiE
i 8 |&iEY &k 400,000{ 100,000 500,000
2ot 9 |FRIKBHERFREE 4B ~3A 100,000 0 100,000
£ 10 IRRx2 Y ~DHIE d ik 175,000 0 175,000
Huig iR &
11 |Shds LRSS 4B ~3R 500,000 0 500,000
YiEE
Z Dfth
SEENBE/HBE/NET 2,219,000| 100,000 2,319,000
=il 2,254,000] 100,000 2,354,000




